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1) /KA : #ET15.4 ~16.9 C, KB T 15.3 ~16.6 ‘COFPFHIZH > 7=,

2) iy #ET335 ~ 33.8, KB T 33.6 ~33.8 DHAHICH T,

3) pH:8.07 ~ 824 OFPAIZH Y, R TKIEMAKILYE (7.8~84) Zili7z= LTz,

4) COD : 0.1 Kiiii~0.8 mg/L OFFAIZH VY, 2L CTKEMKIEHE (BASMENE : 2mg/LULT) %
g7z LTz,

5) DO : 7.2~8.1 mg/LOFMIZH Y, A CTKERKEEE (6.0 mg/LLLE) &z LT\,

6) MRS FHBIIUL FofHENICH T2,

U UEEY) > (PO4P) : 3.3 ~ 18.5 pug/L
7 oE=THEFHE (NHoN) : 1.7 ~ 11.7 pg/L
fiffieEE® (NO2-N) - 0.7 ~ 3.5 ug/L
HlERE%F (NOs-N) : 3.7 ~ 62.1 ug/LL
(ZHEZEH X 7.3 ~ 73.7 ug/L)
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